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Time : 3Hrs. Sem - I/11
E & EC Engg.
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4F 1352 |
Answer all Five questions from Group B, each question

carries 4marks.

79-B & @+l ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift o9 yeal @ SR <, UAS U &1 99 83(® 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U3 & O AU BT SR Ud g TR (AR &H o)
BT AMRY, 4T 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ urd @ e QUiie & qad 2 |
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10. (a) Explain the working of a NPN transister with (i) ?Ifioﬁ$ foras a1 SN B9 & ford e
4
@) g1 fava & gurgurh BT =@y

neat diagram.

(b) Explain an AND gate with its truth table. 4 @) A -
(@) fava a1 & GEUTd {91 TRy
(31) wW@oB ARG B 9 A gA0dloT-0 (]) Swiaa u+H
erforeer @ &l &1 9ufa &R
() TH AND I @) T SHa) T (iii)  Transformation ratio of a transformer is
given by
ARYfl & " By | @ V,/V,
(b) N,/N,
OR(37214T) (©) L/1,
(d) E//E,
(a) Describe an exclusive OR gate with its symbol (i) ETEHIHY BT HUTARI gurd Bl e
and truth table. E:I)) X;i;l
(b) Convert the following binary into decimal. @) 1 : 1 ?
2 1
111110, 0001111, 110011, 111111 () E,/E,
(31) t® gauaqfia OR e &1 9vid I°a (iv)  Transformers are rated in KVA instead of KW
x £ . 0 because.
) fo Ud - @ we (a) KVA is fixed whereas KW depends on
.| load power factor
@) & A I W& P ;AT GE&AT d (b) Load power factor is often not known
¥ (c) Total transformer loss depends upon
| volt-ampere
111110, 0001111, 110011, 111111 (d) None of these
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8. (a) Find the current in each branch of the circuit
given below. 4

(b) What do you understand by self and mutual

inductance of a coil? Explain. 4
——— MVWWWW
2Q
12V +O g %
- 330 £ 60

@) = @ ™ aRue &) y-AS a9
€RT &T A9 A®Tal |

(@) U HUSHT & TWUIDbd Y4 URER URded
39 w1 qHS 87 AreAr oY |

— VWV

2Q
12V__|_O %3(2 % 60

OR (3721d)

Define magnetic flux, flux density and permeability.
Give the analogy between electrical and magnetic
circuit.

EWW,W@WWW
AT FT FHSd 2° fagd vad g didbe
& 9 gEEar &1 9vfa B |

02013

(vi)

(vii)

(vii)

(viii)

5 01204/02104/P01204

o fagra—ie &1 faga Jdgs [or
qra$hd & 96+ W

(31) gear @

(q) =rear @

(@) sraRafda vear @

(€) 379 9 ®Ig 8l

The practical unit of electrical energy is
(a) Watt-hour

(b) Watt-second

(c) KWh

(d) Joule-second

faga Sof @1 ATEIR® 3318 ©
(31) dre—der

() are—AdvS

(u) fearare =er

(]) e Advs

The terminal where more than two branches
meet is known as

(a) Terminus

(b) Node

(c) Anode

(d) None of these

P.T.O
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5.  What do you understand by conductor, x)  drd® s oRT gyarRd @ & 2, @
se?lliconducicors and insulators? Explain in brief - B (Rrega— ART) B Nar
with examples.

P 4 forar <irar @
ATdA®, 3g didd aAT HaTadd A AT FT (31) &RT &)1 Bl D & ferd
[ 87 STIENU & A1l Gfdrad # gad) @) e B AHA > ford
ATAT BN | (|) (a)Td (b))l & ford
(]) 3 4 »Is Bl
OR (31214T)
(xi)  The Fleming Right Hand rule is applicable to
Explain extrinsic semiconductor with neat diagram. (a) Transformer
(b) Generator
WP ARG DI Aedl 4 gaafghea (¢) Motor
g ATAD DY ATEAT BN | (d) None of these
6. Explain NOR gate with its truth table. 4 i) FIRFT $T TR 6 FrRE TIY arar 2
31 FHRR 1R
Udh NOR WIT &1 ARAT sHSI Gl ARefl E))E:
@ e FR q) WA W
(|) #ler w®
(]) 37 & »Is @l
OR(37214)
Define o and B for a transistor and establish the (xii)  The resistanc§ of wire varies directly as its
relationship between them. (a) Cross-section area
(b) Resistivity
SioReR & 0 vd B @l aR\a &) a=ar (c) Length
S 49 dee enfud aY (d) Both (a) and (b)

P.T.O
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(xx)

U FET @ fafase gfearer aidt @
@n =

(9) S=a

(|) weaw

(%) SwWiad & 4 ®Ig L)

GROUPB

Answer all Five Questions. 5x4=20

gl ufg 9 & SR < |

2.

State and explain Thevenin’s theorem. 4

dAfoe Uiy &l ford vd sUa ARAT B |

State and explain maximum power transfer theorem.

OR(372rd)

JfSrpad vifed THTaReT yad &l ford e
S AT DX |

02013

(xiv)

(xv)

(xv)

(xvi)

9 01204/02104/P01204

Udh SR SRS $ &0 8RT
(31) ATush¥ & 1T Hedl @

@) AR HRIX & HRoT B 2
() mA a1 pPA D IR A B
(@) ¥ 9@ o1 T

A zener diode is operated in
(a) Forward region

(b) Breakdown region

(c) Both (a) and (b)

(d) None of these

SR SHTs JfRe gdr @
(31) BRars oA #

@) dHsrsT o §

(&) (1) q@rr (@) <rEr

(?) 379 9 @I¥ 7

In case of a bipolar transistor, o is
(a) Positive and >1

(b) Positive and <1

(c) Negative and >1

(d) Negative and <1

P.T.O
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